
ORBIS    MESH CAGE INSTALLATION INSTRUCTIONS
 Ensure that all relevant personnel read the points listed below and that a copy is passed on to staff involved 

with the installation. Please also refer to the ‘Manual Handling Operations Regulations 1992’ during the handling of the 
product and materials used for installation.  

TM

           AND ORBIS ARE TRADEMARKS OF GLASDON GROUP AND ITS SUBSIDIARIES IN   
          THE U.K. AND OTHER COUNTRIES.

Replacement components are available direct from GLASDON.

GLASDON cannot be held responsible for claims arising from incorrect installation, unauthorised modifications or misuse of 
the product.

Issue 1 September 2011 C000/0399
© Copyright 2010
Glasdon U.K. Ltd reserves the right to alter specifications without prior notice.

Glasdon U.K. Limited
Preston New Road
BLACKPOOL
Lancashire FY4 4UL
Tel: 01253 600410
Fax: 01253 792558
E-mail: sales@glasdon-uk.co.uk
Web: www.glasdon.com

1. Slot the mesh cage mounting brackets onto the post and rest the mesh cage on the ground. Fig 1.

2.   Slot on the �xing brackets and thread the screws through a washer each and then through the
  corresponding holes in the mesh cage plate and the �xing brackets. Fig 2.

3.  Add a washer and a nyloc nut to the end of each screw and tighten 3/4 of the way. Fig 2

4.  Slide the mesh cage so the it is touching the underside of the Orbis sack holder and tighten up the 
 four screws to �x the mesh cage into position. Fig 4. 

Please note: We recommend that for step 4 you ask another person to hold the mesh cage in position 
whilst you are tightening the �xings.

KIT CONTENT
Mesh Cage    x1
Fixing Brackets   x2
Nyloc Nut M8    x4
Washer M8    x8
M8x20 Socket Button Head Screw x4
Clear Griptight Polybag  x1

Fig. 1

TOOLS REQUIRED:
5mm Allen Key
13mm Ring Spanner

Fig. 4

Fig. 3

Fig. 2


